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ot = 2014 1XZZ | 20144 Ola | B | FHHI(20143) o = 20148 1% | 20149 Ola | A | 28HI(20144)
2 12,003 12,003 - 0.47%| THOHUI2H 2teld] 1,871,982 1,971,982 |- 100,000 73.01%)
=gl 5,000 5,000 - jelals]] 1,096,658 1,196,658 |- 100,000
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2x3+¢ 60,001 60,001 - 2.34%| MEABISX = 6,000 1,000 5,000 0.23%
FNEX3+Y 1 1 - & 6,000 1,000 5,000
NAMEEZS L 60,000 60,000 - SSXHAe XIs 687 87 600 0.03%
FESXHat 2,016,549 2,016,249 300 78.65%) B R=PARAINE 687 87 600
2SR 3 2,016,549 2,016,249 300 DA XIS 48,013 48,013 - 1.87%
DE XA 152,418 152,418 - 5.94%) ESUADNRAINE 4 4 -
SRR 4 4 - SE XA X E 48,006 48,006 -
S RHAHOH2E 7 7 - SEXHAHFE S 3 3 -
SLERAH 2 4 4 - ollgl Bl 25,639 25,006 633 1.00%
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pIEEEIE 1 1 -
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Sty 28+ 5,000 5,000 - |+ A&HI=g : 5,000,000&
A el 7,003 7,003 -
0l = Ol Xt 6,000 6,000 - [« 28712 S =014+ @ 6,000,000&
HILF+=F0IA 1 1 - H=EXS
om|=a ! 1 - EESE
St =S 1 1 - H=EXS
el 1,000 1,000 - [+ =& : 1,000,000&
ESSES 60,001 60,001 -
A= ege 1 1 -
=NEx=+¢ 1 1 - H=EXS
ARHMEZZ S 60,000 60,000 -
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= IS 002t CH 1 1 - H=EXS
ESHE
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sr=[gII(HBII) -

2014. 3. 1 ~ 2015. 2. 287tXl]

]

=2
=

1R 0l &H(A)

JIEtS & XHAHDH 2t CH

oso 152,403 152,403 -
da3223 1 1 - E=ESE]
yer >33 141,500 144,000 2,500 [« 4TI ES : 12,000,0002! x 122 Z=144,000,0002!
HAO=222 10,900 8,400 2,500 [« HA S : 700,000 x 1274 2=8, 400,000
pIES=HIE! 1 1 - E=ESE]
JERESHYS 1 1 - RS
J=a3 1 1 -
201 1 1 -
so)|=2292 1 1 - RS
g I [ 3 o & 7 2,240,972 2,240,672 300
& I o X 2 323,002 260,000 63,002 |+ 63,0022 = o
X 2 2 =S | 2,563,974 2,500,672 63,302
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o & = 1XEZ=Z 0l &H(A) = 0l&k(B) S2H(A-B) & £ 2 A
TOjHI 22l 1,871,982 1,971,982 |- 100,000
CIEL] 1,096,658 1,196,658 |- 100,000
WEOIAH| 1 1 - |p=zx2

« Z20124H| : 509 x

2| 2] = 2|
12101 21| 902,460 932,460 |- 30,000 | [iras 50 c0omim l:;ij‘)‘"oogx‘”“g 932,460,000

R CER 2 x 5024 x 251=93, 2
X 2IA02 23,246 93,246 |- 70,000 |, % 0; 932,460 x 50 x 221=93, 246,000

0,000& & 2t91)

ga3 77,705 77,705 - | EARE3 : 509 x1,554,100&=77,705,000&
243 93,246 93,246 - |+ ALHEE Z : 93,246,000&
22|29l 775,324 775,324 -
SR L] 50,000 50,000 - |+ =ecl&4dl : 50,000,000
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el 1 1 - |H=sEX3
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_ . oFgl AMOUBEHE S 2|
282 15,000 15,000 - |pggg ugzens 10,000,000

ol SHl 3,600 3,600 - |+ 300,000& x 1274 &=3,600,000&

- . 2| 2= (2= 22
TS K| 1.600 1.600 _ 100,000& x 1204 & 1,200,00?_(ﬁo ;’:Trtl

+ 100,000 x 43|=400,000& (X
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S XERXHILE) 2 : 1,600,0002

< 01241 JIHATUHI © 40,0002 x 99 x 127 2=47,520,0008)
P = — B B B
22t 67,520 67,520 = s 2 BIZ : 20,000,0008 I : 67,520,0008

- N8 2 MHEE S

el e 2,000 2,000 - [+ 448l : 2,000,000
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2t 1R 0l &H(A) (B) (A-B) &t £ = A
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JIEt====2 : 3.000.000& Al 9.100.000&
1 1 - [A=EXS
1 1 - [A=EXS
1 1 - [A=EXS
| oo gAXH WAXX ¢ 1,200,000
4,200 4,200 QA JHY 44 JIE&-AL 1 3,000,000& A : 4,200,000
1,800 1,800 - |- 2208 2 ASMI4l 150,000 x 12J4 & =1,800,000&
2,000 2,000 - [+ E3X&H S : 2,000,000
6,000 6,000 - [+ 1,500,000& x 4&|=6,000,000&
_ s oo A28 & Z1Hl : 3,000,000
6,000 6,000 28 EZHM= : 3,000,000 Al 16,000,000
| EXMo, Bl S 2B dANEEESE 2t ¢ 5,000,000
20,000 20,000 QAF 23 A 1 15,000,000 A+ 20,000,000
3,000 3,000 - |- 2 AT NEEHSIHH S JIBtUSEMBLl : 3,000,000
AICH, 2HAHI & =2 X MAEl: 11,2002 x 998 x 302 x 1201 =399, 168,000&
ojefE e ¥ AZHl ¢ 999 x5,000& x 1294 &=5,940,000&
485,108 492,108 7,000 SS2teldl ¢ 6,250,000 x 1294 2=75,000,0002
JlEt2el 24l ¢ 1,000,000 x 1274 &=12,000,000& Al : 492,108,000
MSABIZRIE 6,000 1,000 5,000
EESs 6,000 1,000 5,000
&4 ¢ 1,000,000
PNF~PN| = ) , =
== 6,000 1,000 5,000 (1Xt=Z 5,008 2 SH)
sSAetel XNE 687 87 600
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1 1 - [UA=EXS
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XSS [LII(H6II) : 2014. 3. 1 ~ 2015. 2. 287Xl]

2 & B 1XH5 2 01l & (A) = 0llaH(B) =204 (A-8) o s 2 2
ETELINTI I 684 84 600 | ﬁii;’;j“&oog‘é(’%’ﬁ)
IEFRERMKIE i 1 - ln=zxz
DA XS 48,013 48,013 -
SRXHAXIE 4 4 -
X014 01200% i 1 - ln=zxz
EXNRISAMS i 1 - ln=zxz
252X 1 1 - |A=SEXZ
JIErS] SXRXHAIKIE i 1 - ln=zxz
SETANAXE 48,006 48,006 -
DI HI 2 X0 ) CH 1 1 - |A=SEXZ
« QU M Y RAZF(AME, 012 S)FLHl : 5,000,000
S-S0t 15,000 15,000 - |+ X0 ¥ JIEt EIIHIS324Hl : 10,000,000
15.000.000&
FES0HL 1 1 - |ASEX2
E XI0H ! CH 1 1 - |ASEXZ
AMZOl KA TH i 1 - |ln==xz
AL 1 1 - |ASEX2
X200 O 33,000 33,000 — |+ X3Pl ¢ 33,000,000
JNErS] SE XHAHH TH ! 1 - |lz=zxz
e R A S 3 3 -
PNESPARSEE NI RIRE 1 1 - |HsEX2
M IDNES 1 1 - |H=sEX3
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o = 1XHE 2 01 (A) 2 ola(B) Z2t04 (A-5) & 5 a !
JIEtSl RE TS ! 1 - ly==xz
ol 25,639 25,006 633
ol 25,639 25,006 633
ol 25,639 25,006 633 |- oibibi1%
SE2 NE 152,401 152,401 -
RELHKE 152,401 152,401 -
SR PEVIES 142,500 144,000 1,500 |° ﬂfffﬁ%g;ﬁggf)x123@:144*000*000%
HAH O +2 XS 9,900 8.400 1,500 |" (%12@%4%1i%g%%ﬂmz(;;23@2&400000%
JlEte] RESXE i 1 - |ly==xz
DL KB 2 2 -
DH=HA 2 2 -
BN ! i 1 - ly==zxz
JlEtel DHEMKS i 1 - ly==zxz
J=2uEKs i 1 -
Iz 3ets 1 1 -
Eoi)| =308 i : - |lu=zxz
g 1 ®» =2 N B = A 2,104,725 2,198,492 93,767
g » o= = A 459,249 302, 180 157,069 |- XIDIOIBXIZ G4 167,0008 8 S,
T 2 xn & = A 2,563,974 2,500,672 63,302




